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tion

Please, answer all the following g

| Analyze to partial fractions and then find the coefficient of X" . (Sla0v)

2

X —=x"—=x+1

Use mathematical induction to prove that 7 + 3 *" s divisible by 8,where n is a positive integer
number. (< V)

'

i + penl A . : (Seu5Y)

510 5.10.15

Find the sum of the series S = ;— -

| If the equation x* +ax® +bx” +cx+d = 0 have two equal roots in value and different in sign,

| prove that ¢* = a(bc — ad) . (s V)

Using any numerical method find the largest positive root of the equation x> —7In(x) =2.347 . (<ilaav)

| Find the values of k so that the equations : . , (<lah)

kx+y+z=4-k, x+hkpy+z=2+k, x+y+kz=3

| have: (1) Unique solution  (2) Infinite number of solutions ( 3) No solution.

17 0 =25
| Find the eigenvalues and eigenvectors of the matrix 4 = | 0 3 0 . (V)

o y = _N3x s Masdhd e Atia g A1 AN Sl 2a g -
1 Al eblgdl! Gawal -
L o if) lim [sec(x)—tan(x)]
x4+ x . =2
iii) lirr}) [ x| iv) lim [sec(x).tan(x)]"
X~ Lty

2

tanh( x ax
R N z('—)x +1n (27 ) 4sec” (sec(sink” 5x)) SRl At R L Sl
X"  +e

Ly Al quuaf sy = cos( x). cos( 3x ) : ANl Ay gl ARidal) aaf -

y =sin "'x oz ANAl cpslsle ol Sha 3 ) -




T} PO U] FEOR]
sin(u) cos(u) . u’ sin”'(u) u'
1-u?
cos(u) - sin(u) . u’ cos ' (u) -
AR 3
sec(u) sec(u). tan(u) . u’ sec”(u) u'
' ’ uvu?-1
cosec(u) - cosec(u). cot(u) . u’ cosec™ (u) i i3
uvu? -1
tan(u) sec’(u). u’ tan™'(u) i
1+u?
cot(u) - cosec’(u) . u’ cot”(u) —u'
1+u?
sinh(u) cosh(u) . u’ sinh™ (u) a’
' ul +1
cosh(u) sinh(u) . u’ cosh™(u) u'
u?-1
sech(u) - sech(u). tanh(u) . u’ sech”(u) —
uv1-u?
cosech(u) | - cosech(u). coth(u) . u’ | cosech™(u) fteny
u1+u?
tanh(u) sech’(u). u' tanh™ (u) i’
1-u?
coth(u) - cosech®(u) . u’ coth™(u) —n
1-u?
a" a",In(a). u’ e" e'. u
log,(u) L In(u) L
u.lnp u
A PN Iz

F(x)=f(x0)+ (x=x0)f"(x0) +

cos(2x)=1-2sin*(x)=2cos*(x)-1 ,

(x = xo)2

2!

sin( 4).cos( B) = 0.5[sin( 4 + B) +sin( 4 — B)]
sin( 4).sin( B) = 0.5[cos( A — B) — cos( 4 + B)]
cos( 4).cos( B) = 0.5[cos( 4 + B) + cos( A — B)]

Dr.\ Assem El-Shennawy &  Dr.\Tamer Atteya

J(xg) e

sin(2x) = 2sin( x). cos( x)

'

With our best wishes
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